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English Version :
(Use a separate Answer Book for each group)

Group - A
(Answer any five questions) [5x5]

Make a distinction between Synthetic and Analytic Judgement.
Make a brief analysis on two characteristics of a-priori judgement.
What do you mean by a-posteriori judgement? Explain.

What do you mean by innate ideas?

Discuss any one argument of Locke to refute innate ideas.

What is substance, according to Locke?

Write the difference between impression and idea, after Hume.
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What is cause? Discuss after Hume.

Group-B
(Answer any five questions) [5%5]

9. What is meant by Truth-Functional compound?

10. If A, B and C are true statements and X, Y and Z are false statements, then what will be the truth
value of following sentences?
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a) [X-(A>Q)]>[(~Y-~A)vB]

b) [-B2Y)-(CvZ]=(-C-~Y)

When two propositions are logically equivalent? Explain.

By using truth table method, determine the truth value of following statements—

a) (p-a)>(~a-p)

b) [(~pva)-(@=>pl>(p>0)

Does (poq)imply (~pvQq)? Explain.

Write any five rules of Resolution.

a) Determine by the method of resolution, whether the following is a tautology.
[(p-a)orl=[p>(@>1)]

b) Test the validity of the following argument by the method of resolution.
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Distinguish, with example, between the rules of inference and rules of replacement.

Construct formal proof of validity for the following arguments (use only two steps) :

a 1. AoB
2. (A-B)oC /..A>C
by 1. (WvX)oY
2. W /.Y
c) 1. DoE
2. (EoF)-(FoD) /..DoF
d 1. (ToU)-(GoF)
2. T /.UvF
e) 1. MvN
2. ~M-~0 /..N

Construct formal proof of validity for the following arguments (any two) :
ay 1. DvC / ..BoB

by 1. To(U-V)

2. (UvV)oW [ ToW
c) 1. WoX

2. YoX [ (WvY)oX
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